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Problem 1. (4] *‘ e
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Problem 2. {4) Find the line imtegral

JIr T = Trey + yads,
Cysiy
where (Y is the line segment connecting P and [;' with the areptation from P

ta ), and O is the line ssgment connecting () apd R with the ofentation from
O to R Here P=(1,1,1), @ =(1,1,0) and R =(0,1,1). Du L]
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Problem 3. (4)

Let F = (3= = dope®)i + (-22322 4 Dyl + ( drtyr 4+ 1)k defined an RY.

(i) Decide if F is conssrvative.

(i) If F s conservative, find the potential function V) such that F = ¥V, .
[ifi} Compute the Hoe iotegral I F - dr, where C is given by the parametric '
equation 2=, y =8, z =", 0 < ¢ < 1 with the orlentation given by the
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Problem 4. (4)

Emlua.tetheturfmmmg,m] [ [olaz® — by*)dS where 5 5 the cone given
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Froblem 5. [4)

Let 5 be a surface given by the parametric equation Glu, v) = (b, v, au? - bu?)
with domain D = {{u,v)| * + ¢ < 1} where a and b are two constants. Orient
§ with the normal vector field n peinting to the negative s-direction | that is

the s-poenponent of p {s pegadive ). Find

Ifrll';P-ds.
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